'_-‘;MI_ Country Manufacturing, Inc.

Fredericktown, Ohio

ZERO TURN BROADCAST SPREADER

COUNTRY ZERO TURN EQUIPMENT

P.O. BOX 104, 333SALEM AVE,, FREDERICKTOWN, OH 43019
PHONE: 740-694-9926 FAX: 740-694-3088

EMAITL: admin @countryzeroturn.com




If your rero turn mower is already equipped with our universal mount bar, you will only use the parts shown in the
picture above. The foot lift pedal will not be used for the broadcast spreader.

Parts Breakdown

| Unlversal Maurnt Bar

PART | QTY DESCRIFTION PART | QTY DESCRIPTION

1 1 FEED BIN 2 1 WHEEL ASSEMBLY

3 1 FEED RATE DOOR 4 1 AGITATOR

&5 2 FEED BIN SUPPORTS 5 1 SUPPORT FRAME

7 1 FAN 2 1 O-BELT

g 1 OPERATING ROD 10 1 PULLEY

11 1 O-BELT GUARD 12 1 FEED RATE SLIDE
2 5/16" x 3" BOLTS 3 1/4" x 3/4™ BOLTS
1 ~ 5/16" x 2" BOLT 3 1/4" NUTS
4 5/16" FLAT WASHERS 2 1/47 X 3/4" TEK SCREWS
4 5/16" LOCK WASHERS 4 1/8" COTTER PINS
2 5/16" NUTS
1 5/16" WINGNUT




Slide the “U" shaped tube upward into the mount bar and lightly tighten to hold on place.

You will adjust this tube once the spreader is assembled,

Slide the wheel assembly into the support frame, and then slide the support frame onto the “U* shaped tube.

Lightly tighten to hold on place.



Slide the pulley onto the wheel assembly shaft and tighten the set screw. Make sure the set screw is position over the
flat spot on the shaft. Slip the O-belt over the pulleys,

Attach the feed bin to the main frame using 2 — 5/16" X 3" bolts fwashers/ lock washers fnuts.

Hand-tighten these bolts.



Attach the fan to the top of the shaft located in the middle of the support frame. Use a 1/8” cotter pin.

Front

Slide the feed rate door into the bottom of the feeder bin. Make sure the small hole it towards the rear of the feed bin.



Insert the agitator into the hole as shown. Secure the agitator into the top of the fan using a 1/8" cotter pin.

Tighten down the bolts holding the feed bin to the support frame. Make sure that the agitator is not bound up.

Insert the feed bin supports as shown above. Make sure the suppaorts are in as far as possible.



|

Pull the feed bag up and over the supports. Secure the bag around the supports using the sewn in Velcro strips.

Attach the operating rod through the hole in the main frame. Secure the rod to the adjustment handle using a 3/32"
cotter pin, as shown above.



Attach the feed rate slide to the rear of the feed bin, and the support frame wsing 2 —1/4" x 3/4" bolts and nuts.
Apply the calibration sticker to the top of the feed rate slide.

Attach the 5/16" x 2™ bolt with tab using the 5/16 wing nut. (Mormal balt shown for clarity) The tab will extend over the
sticker.

You will need to determine vour own spread rate. The adjustment will va nding on what vou are using in the







